Advanced course- Lesson 4 Summary

| Passé composé = an action that happened and was completed in the past. I

Imparfait = an action that lasted in the past (was/were ...ing)
—> an action that happened regularly in the past (used to...)
-2 description of a situation in the past

Forming the imperfect:

Take the NOUS form of the present tense

-> Knock off the -ons

nous dansens finissens vendens

L | !

Imperfect dans- finiss- vend-
tense stem
Imperfect ..
tense stem dans-  finiss- vend-
+
Endings of the imparfait
Je ais [eh] dansais finissais vendais
tu ais [eh] dansais finissais vendais
Il/ellefon |ait [eh] dansait finissait vendait
nous ions [eed]| dansions finissions vendions
vous iez [ee@] | dansiez finissiez vendiez
lis/elles |aient [eh] | dansaient finissaient  vendaient

Why all the trouble?

dans- finiss- vend-

The stem from the nous form of the
present tense works with all verbs,

including irregular ones: e

y étais [©teh]

tu étais [©teh]
vons > Favais ll/ellefon était [@teh]

) nous étions [©teed]

pouvons 2> Il pouvait =
. L vous étiez [Otee@]
lisons = Mes parents lisaient —

lls/elles étaient [Oteh]
buvons <> On buvait —




